FHMSF4A BT BUTHARBMR RS BFEER

B B RERBREER(N) [FTEEREEH(N) [HENREZH(N) ] BREEFBLHN) 20k T

" 5 SEREE T EERES? HBRATREE? REEA nomE Air[a] fE]— & &

pER| BEme | SOAEERO (A) ®) ©) D)= (A +(B) +(c)| BT *E (% T = R (%)
E; E:S it E; E:S it E:) % it E:) = it B = it E:l = B B E M4 E; £ it
1 E &R 3,824| 4,191] 8,015] 1,148] 1,175] 2,323 62 72| 134] 761| 957 1,718] 1,971 2,204| 4,175| 5154 | 52.59| 52.09| Eizm{&Fr [50.40](50.65]50.53
2 NEREE 2,568] 2,997 5565| 845] 997] 1,842 0 0 o] 390] 524] 914] 1,235] 1,521] 2,756] 48.09] 50.75 | 49.52 NEEE 47.70] 48.92] 48.35
3 F1/DMER 1,406| 1,407] 2,813] 392 379] 771 0 0 o 272] 287] 559] 664] 666] 1,330]47.23[47.33[47.28] F1/)hFEH |44.26]47.05]45.65
4 [Kiz=-68gimEFS| 3,267] 3,705] 6,972] 984] 1,116] 2,100 0 0 o] 647] 851] 1,498] 1,631] 1,967] 3,598] 49.92]53.09 | 51.61 | Fshmiprsi -~ 4—| 48.88[ 49.94] 49.45
5 [KIzt-6dTHRTSH| 2,009] 2,399] 4,408] 696] 799] 1,495 0 0 o] 237 384] 621| 933]1,183] 2,116] 46.44] 49.31] 48.00 [<I=r-twE TS| 45.35| 50.06 | 47.96
6 E2INERL 3,240] 3,262] 6,502] 1,092] 1,081] 2,173 0 0 o] 464] 511] 975] 1,556] 1,592 3,148]48.02] 48.80(48.42] 2/ |46.33[48.34]47.33
7 FEIINFER 2541] 2,786] 5,327] 911] 877] 1,788 0 0 o] 417] 611] 1,028] 1,328] 1,488] 2,816[52.26[ 53.41[52.86] EFE3/F# |50.93[52.14]51.56
8 FEI3hFER 1,931 1,892] 3823] 335] 294] 629 0 0 o] 466] 572] 1,038] 801] 866 1,667]41.48]4577]43.60] FE4/FH |46.38]4859]4753
9 |[strRez—mwmzsm| 935] 1,174] 2,109] 394] 506] 900 0 0 o 126] 162] 288| 520 668| 1,188]55.61]56.90]56.33 [=+tnes—mmesm| 57.45 | 58.94] 58.27
10 EVEES 3,436] 3,776] 7,212] 1,277] 1,337] 2,614 0 0 0] 498] 653] 1,151] 1,775] 1,990] 3,765| 51.66] 52.70[ 52.20| FE2h=# [51.51]51.18[51.34
11 F6/NER 2965 3,172| 6,137 865| 896/ 1,761 0 0 0| 432] 523 955[1,297] 1,419 2,716[43.74| 4474 44.26| FE6/hF8 |43.78]46.39] 45.08
12 E7INER: 1,953] 1,904] 3857] 680] 657] 1,337 0 0 0] 283] 326] 609] 963] 983] 1,946]49.31]51.63[50.45] EFE7/hFH  |48.90[52.22]50.51
& &t 30,075]32,665[62,740] 9,619]10,114[19,733] 62| 72| 134] 4,993] 6,361]11,354]14,674]16,547[31,221] 48.79] 50.66 | 49.76 & &t 48.30] 50.01 49.18
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SH5FE4A23B8T ENTESER 2L BEEH

19F5 IR 7E
(BAEHI- T L)
BER nEF SHEEER (N) BEEAH (A) REE (%) AIEREER (%) _
- = E:] z &t 2 9 B E:] = B BErm£ E:] s it
1 |Em&e 3,824 4191 8015] 1,076] 1,099] 2175] 28.14| 26.22| 27.14|EIhEFT 30.18 | 28.41 | 29.26
2 | AREE 2568] 2997[ 5,565 789 909] 1,698 30.72] 30.33] 3051|AREE 3242 | 3354| 33.02
3 [FE1/hER 1,406] 1,407] 2813 364 347 711] 25.89] 24.66] 25.28|%F1/hFH 2230 | 19.25| 20.78
4 |zrt-smmmEIS>y| 3,267] 3,705] 6,972 902 1,028 1,930 2761 27.75] 2768[Emuirst 42— 3283 31.58| 32.16
5 [izt=simRTSH|[ 2,009] 2,399] 4,408 649 743] 1,392] 32.30] 3097] 3158[<iztsikmERIS¥| 3244 3354[ 33.05
6 |FE2/hFEh 3,240 3262 6502] 1,003 992] 1,995 30.96| 30.41] 30.68|F2/hFh 31.67| 3157| 31.62
7 |E3/NFER 2541 2,786 5,327 857 824 1681 33.73] 2958] 31.56|F3/NE 3349 | 3194 3268
8 |FE3HEFR 1,931] 1,892] 3,823 313 269 582 16.21] 14.22] 15.22|F4/NFHk 2418 | 2263 | 23.38
9 |tRaz-—mEmEsm 935] 1,174] 2,109 376 483 859] 4021 41.14] 4073|=tmas—mweam| 4435| 4540| 44.93
10 |2 3,436 3776 7212] 1,195 1252 2447] 3478] 33.16] 33.93|F2thFERK 35.83| 3353 3464
11 |[FE6/IhER 2965 3,172 6,137 807 847 1.654] 27.22] 26.70] 26.95|F 6/hFE 30.90 | 31.14| 31.02
12 %7/]\*;7& 1,953 1,904] 3857 629 501 1,220 3221 31.04] 31.63|F7/hFk 3476 | 3471 | 34.73
& &t 30,075| 32,665| 62,740 8,960] 9,384] 18,344] 29.79] 28.73] 29.24 & § 31.75| 3101 | 31.37
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18R IR 7E
(BAEHI- T L)
BER nEF SHEEER (N) BEEAH (A) REE (%) AIEREER (%) _
- = E:] z &t 2 9 B E:] = B BErm£ E:] s it
1 |Em&e 3,824] 4,191 8,015 997 996| 1,993 26.07] 2377 2487|Eith{&FT 2801 | 2590| 26.92
2 | AREE 2568] 2997[ 5,565 731 840 1571 2847 2803 28.23|AEfE 2942 | 3047 | 2998
3 [FE1/hER 1,406] 1,407] 2813 334 313 647 23.76] 2225 23.00|/%F 1/hFH 2106 | 17.78| 19.42
4 |zrt-smmmEIS>y| 3,267] 3,705] 6,972 831 938 1,769 25.44| 2532 2537|mmmuEpstEs—| 2947 | 2858 | 28.99
5 [izt=simRTSH|[ 2,009] 2,399] 4,408 599 688] 1,287 29.82] 2868] 29.20[Kizt-uimERISY| 31.17] 3117 31.17
6 |FE2/hFEh 3,240 3262 6502 905 891 1,796 27.93] 27.31] 27.62|F2/NFEh 2901 | 2825 2863
7 |E3/NFER 2541 2,786 5,327 803 761] 1564 31.60] 27.32] 29.36|FE3/NFE 30.80 | 29.47| 30.11
8 |FE3HEFR 1,931] 1,892] 3,823 289 244 533 14.97[ 1290 13.94[F4/NFHk 2292 | 20.75| 21.79
9 |tRaz-—mEmEsm 935] 1,174] 2,109 347 454 801] 3711 3867] 3798|=tmasz—mumesm| 4083 | 4226| 4161
N EFLEEEA 3,436 3776 7212] 1,106] 1,135 2,241] 32.19] 30.06] 31.07[F 2R 3298 | 31.20| 3206
11 |E6/INFR 2965 3,172| 6,137 763 793] 1556 2573 25.00] 25.35|F6/MFR 2880 | 29.11| 2896
12 %7/]\*;7& 1,953 1,904 3,857 562 539 1,101 28.78] 28.31| 2855|F7/hFkk 3273 | 3237| 3256
& &t 30,075| 32,665 62,740] 8,267 8592 16,859] 27.49] 26.30] 26.87 & § 29.38 | 2851 2893
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17R5IR7E
(BAEHI- T L)
BER nEF SHEEER (N) BEEAH (A) BEE (%) AIEREER (%) _
- = E:] z &t 2 9 B E:] = B BErm£ E:] s it
1 |Em&e 3,824] 4,191 8,015 913 899| 1,812 2388 2145 2261|EIh®mR 2568 | 23.65| 2463
2 | AREE 2568] 2997[ 5,565 652 760] 1,412 2539 25.36] 2537|AREE 2646 | 2763 | 27.09
3 [FE1/hER 1,406] 1,407] 2813 301 285 586 21.41] 20.26] 20.83|%F1/hFH 19.08 | 1584 | 17.46
4 |zrt-smmmEIS>y| 3,267] 3,705] 6,972 761 853 1.614] 2329 23.02] 23.15|F:msrEstrs—] 2661 2551 | 26.02
5 [izt=simRTSH|[ 2,009] 2,399] 4,408 546 640] 1,186] 27.18] 26.68] 26.91[<zr-skmEISY| 2898 2880[ 2888
6 |FE2/hFEh 3,240 3262 6502 817 807| 1,624 2522] 2474] 2498|FE2/NFEk: 2620 | 2450 | 2536
7 |E3/NER 2541 2,786 5,327 728 694] 1422 2865] 2491] 26.69|FE3/NERK 2851 | 26.71| 2757
8 |FE3HEFR 1,931] 1,892] 3,823 267 232 499 13.83] 12.26] 13.05|F4/NFH 2059 | 18.21 ] 19.35
9 |tRaz-—mEmEsm 935] 1,174] 2,109 319 416 735] 3412 35.43] 3485|=trsz—muwssm| 3785| 3897 | 38.46
N EFLEEEA 3,436 3776 7212] 1011] 1,020 2,031] 29.42] 2701 2816[F2hFRK 3002 | 2787 2891
11 |[FE6/IhER 2965 3,172 6,137 699 717]  1,416] 2358 2260 23.07|F6/hFH 2663 | 26.76 | 26.70
12 55711\*;7& 1,953 1,904 3,857 517 483 1,000 26.47] 25.37] 25.93|F7/hFE 30.23 | 29.36 [ 29.80
& &t 30,075| 32,665| 62,740 7531] 7.806| 15337] 25.04] 23.90| 2445 & § 26.85| 2571 | 26.26
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SH5FE4A23B8T ENTESER 2L BEEH

16F5IR7E
(BAEHI- T L)
BER nEF SHEEER (N) BEEAH (A) REE (%) AIEREER (%) _
- = E:] z &t 2 9 B E:] = B BErm£ E:] s it
1 |Em&e 3,824] 4,191 8,015 814 794] 1608 2129 18.95] 20.06|EIth{&FT 2314 | 2141 | 2225
2 | AREE 2568] 2997[ 5,565 590 675 1,265 2298] 2252| 2273|AREE 2389 | 2483| 2439
3 [FE1/hER 1,406] 1,407] 2813 276 249 525] 19.63] 17.70] 18.66|% 1/NFx 17.42 | 1432 | 1587
4 |zrt-smmmEIS>y| 3,267] 3,705] 6,972 685 734 1,419 2097 1981 20.35|mmuEpssit4—| 2402 | 2263 | 23.27
5 [izt=simRTSH|[ 2,009] 2,399] 4,408 504 577] 1,081 25.09] 24.05] 2452[<izt-skmETSY]| 2609 2610 26.10
6 |FE2/hFEh 3,240 3262 6502 746 700] 1,446| 23.02] 21.46] 22.24|F2/hNFEk 2370 | 2191 | 2281
7 |E3/NFER 2541 2,786 5,327 655 612 1,267 25.78] 21.97] 23.78|F3/hFH 26.02 | 2409| 2501
8 |FE3HEFR 1,931] 1,892] 3,823 234 207 441  12.12] 10.94] 11.54|F4/NFH 19.27 | 16.33| 17.74
9 |tRaz-—mEmEsm 935] 1,174] 2,109 291 383 674] 3112 32.62] 31.96|ztraz—mmwesm| 3406 | 34.63[ 34.37
10 |22 3,436| 3,776] 7212 882 903] 1,785 2567] 23.91] 24.75|F 2k 2714 2440 2572
11 |[FE6/IhER 2965 3172 6,137 648 649] 1,297| 21.85] 2046] 21.13|FE6/NFEk 2427 | 2444 | 2435
12 55711\*;7& 1,953 1,904 3,857 468 442 910] 23.96] 23.21] 2359|FT7/NEK 2734 2588 26.63
& &t 30,075| 32,665| 62,740] 6,793] 6,925| 13,718] 2259] 21.20] 21.86 & § 2434 | 2302| 23.66
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15FF IR 7E
(BAEHI- T L)
BER nEF SHEEER (N) BEEAH (A) REE (%) AIEREER (%) _
- = E:] z &t 2 9 B E:] = B BErm£ E:] s it
1 |Em&e 3,824] 4,191 8,015 735 703| 1,438 1922 16.77] 17.94|Eith{&Ffr 20.73 | 18.63| 19.65
2 | AREE 2568] 2997[ 5,565 522 587] 1,109 2033] 1959 1993|AREE 2124 21.93]| 21.61
3 [FE1/hER 1,406] 1,407] 2813 257 226 483| 18.28] 16.06] 17.17|F 1/ 1563 | 12.77| 14.20
4 |zrt-smmmEIS>y| 3,267] 3,705] 6,972 603 646 1,249 18.46] 17.44] 17.91|mmEpsstE4—] 2111 19.29] 20.13
5 [izt=simRTSH|[ 2,009] 2,399] 4,408 454 515 969 2260 21.47] 21.98[<izt=tkmETISY| 2454 2379] 24.12
6 |FE2/hFEh 3,240 3262 6502 672 606] 1,278 20.74] 1858] 19.66|FE2/hFh 2190 | 19.80 | 20.86
7 |E3/NFER 2541 2,786 5,327 592 540/ 1,132] 23.30] 19.38] 21.25|5F3/NE 2353 | 2151 | 2248
8 |FE3HEFR 1,931] 1,892] 3,823 210 187 397 10.88 0.88] 10.38[F 4/NFHk 17.12 | 1406 | 1553
9 |tRaz-—mEmEsm 935] 1,174] 2,109 264 351 615 2824 2990 29.16|=tmee—mwesm| 3107 3096 31.01
10 |E2dhHk 3,436| 3,776] 7212 778 783] 1,561 22.64] 2074] 21.64|FE 20k 2482 | 2142 | 23.06
11 |[FE6/IhER 2965 3,172 6,137 591 576/ 1,167 19.93] 18.16] 19.02|FE6/hFHk 2210 | 2218 | 22.14
12 55711\*;7& 1,953 1,904 3,857 426 403 829 2181 21.17] 21.49|E7/hFhs 2484 | 2273 | 2381
& &t 30,075| 32,665| 62,740] 6,104] 6,123] 12,227] 20.30] 18.74] 19.49 & § 2205| 20.38| 21.19
CSRIDERE LY —BRERRVBRERNERLLE>TEYET .
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14F5 I8 7E
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BER nEF SHEEER (N) BEEH (N REE (%) AIEREER (%) _
- = E:] z &t 2 =S it E:] = B BErm£ E:] s it
1 |Em&e 3,824] 4,191 8,015 614 596 1,210 16.06] 14.22| 15.10|EIth{&FfT 18.30 | 16.20 | 17.21
2 | AREE 2568] 2997[ 5,565 443 509 952 1725 16.98] 17.11[AEfE 1921 | 18.89 [ 19.04
3 [FE1/hER 1,406] 1,407] 2813 219 192 411] 1558] 13.65] 14.61|F 1/NFHK 13.81 | 11.34| 1257
4 Kizr-sRemr75Y%|  3,267] 3,705 6,972 507 530/ 1,037 1552 14.30] 14.87|mmuEipssit4—| 1869 | 1656 | 17.54
5 [izt=simRTSH|[ 2,009] 2,399] 4,408 389 437 826] 19.36] 1822] 1874l mETISY| 21.09| 2097 ] 21.02
6 |FE2/hFEh 3,240 3262 6502 594 533 1,127| 18.33] 16.34] 17.33|F2/hFEk 1950 | 17.63| 1857
7 |EI3/hER 2541 2,786 5,327 519 466 985] 20.43] 16.73] 18.49|FE3/NFERKR 21.08| 18.79] 19.88
8 |FE3HEFR 1,931] 1,892] 3,823 185 158 343 9.58 8.35 8.97|FE 4/NFHR 1496 | 12.73| 13.80
9 |tRaz-—mEmEsm 935] 1,174] 2,109 225 309 534] 2406 2632 2532|=tmaz-mmeam| 2710| 27.00] 27.05
10 |E2dhHk 3,436| 3,776] 7212 670 664| 1,334] 1950 1758 18.50|F 2hF 4k 2199 | 18.24| 20.05
11 |[FE6/IhER 2965 3,172 6,137 524 493 10171 1767] 15.54] 16.57|F6/1hFH 1961 | 19.04| 19.32
12 55711\*;7& 1,953 1,904 3,857 371 347 718] 19.00] 1822 18.62|FE 7/hNF#x 2242 | 19.75| 21.13
& &t 30,075| 32,665| 62,740] 5,260] 5,234] 10,494] 17.49] 16.02] 16.73 & § 1956 | 17.73| 18.61
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13F5 IR 7E
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BER nEF SHEEER (N) BEEH (N REE (%) AIEREER (%) _
- = E:] z &t 2 =S it E:] = B BErm£ E:] s it
1 |Em&e 3,824] 4,191 8,015 539 507] 1,046 1410 12.10] 13.05|EIth{&FT 1584 | 1354 | 14.65
2 | AREE 2568] 2997[ 5,565 365 409 7741 14211 1365 1391|XAEfE 16.25| 1511 | 15.64
3 [FE1/hER 1,406] 1,407] 2813 182 154 336 1294 1095 11.94|F1/hFH 11.87 990 | 10.88
4 Kizr-sRemr75Y%|  3,267] 3,705 6,972 418 420 838] 12.79] 11.34] 12.02|Fmsuirssitwr 52— 1619 1441 ] 1523
5 [izt=simRTSH|[ 2,009] 2,399] 4,408 338 366 704] 16.82] 15.26] 1597[Kiz=ed®mEFS¥| 17.77] 1821 18.01
6 |FE2/hFEh 3,240 3262 6502 500 448 948] 1543 13.73] 14.58|FE2/h\FEHx 17.04 | 1516 | 16.10
7 |E3/NFER 2541 2,786 5,327 464 393 857] 18.26] 14.11] 16.09|FE3/NFEKR 1811 | 1584 | 16.93
8 |FE3HEFR 1,931] 1,892] 3,823 153 132 285 7.92 6.98 7.45| E A INEH 13.05| 1085 11.90
9 |tRaz-—mEmEsm 935] 1,174] 2,109 194 250 444] 2075] 2129] 2105|=tmaz-mEwesm| 2313 2319 23.16
10 |E2dhHk 3,436| 3,776] 7212 571 559/ 1,130 16.62] 14.80] 15.67|F2hFHk 1895 | 1544 17.13
11 |E6/INFR 2965 3,172| 6,137 465 428 893] 1568 13.49] 1455|FE6/NFRKR 1744 1685 17.14
12 %711\%7& 1,953 1,904 3,857 315 291 606/ 16.13] 15.28] 15.71[FE7/hFH 19.92 | 1751 | 18.75
& &t 30,075| 32,665| 62,740 4504] 47357| 8861] 14.98] 13.34] 14.12 & 16.94 | 1515 16.02
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BER nEF SHEEER (N) BEEAH (A) BEE (%) AIEREER (%) _
- = E:] z &t 2 9 B E:] = B BErm£ E:] s it
1 |Em&e 3,824] 4,191 8,015 427 397 824 11.17 9.47[ 10.28|E L% FRr 1311 ] 1113 [ 12.09
2 | AREE 2568] 2997[ 5,565 279 318 597 10.86] 10.61] 10.73[AEfE 1286 | 11.94| 1237
3 [FE1/hER 1,406] 1,407] 2813 155 129 284] 11.02 9.17] 10.10[55 1 /N4 10.09 8.27 9.18
4 |zrt-smmmEIS>y| 3,267] 3,705] 6,972 323 314 637 9.89 8.48 9.14|migfEs o 4—| 1279 11.49] 12.09
5 [izt=simRTSH|[ 2,009] 2,399] 4,408 280 292 572 1394 1217] 1298[<izt=tmBTS¥| 1417 1494] 1460
6 |FE2/hFEh 3,240 3262 6502 416 352 768] 1284 10.79] 11.81|FE2/hFEH 1406 | 1241 ] 13.24
7 |E3/NFER 2541 2,786 5,327 374 324 698] 14.72] 11.63] 13.10|E3/hFEkk 1503 | 1279 | 13.86
8 |FE3HEFR 1,931] 1,892] 3,823 129 112 241 6.68 5.92 6.30| 5 4 /NFHR 10.53 7.86 9.14
9 |tRaz-—mEmEsm 935] 1,174] 2,109 156 209 365] 16.68] 17.80] 17.31|=tmas—mmeam| 1933 | 1930 19.31
10 |2 3,436 3,776 7212 450 462 912] 13.10] 12.24] 12.65|FE 2=k 1549 | 1221 13.79
11 |[FE6/IhER 2965 3172 6,137 379 361 7401 12.78] 11.38] 12.06|FE6/MFH 1435] 1371 | 14.03
12 55711\*;7& 1,953 1,904 3,857 258 236 494 13.21] 12.39] 12.81|F7/NEK 16.69 | 1509 | 15.91
& &t 30,075| 32,665| 62,740 3,626] 3506] 7,132 12.06] 10.73] 11.37 & § 13.90 | 1229 | 13.07
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IR 7E
(BAEHI- T L)
BER nEF SHEEER (N) BEEAH (A) BEE (%) AIEREER (%) _
- = E:] z &t 2 9 B E:] = B BErm£ E:] s it
1 |Em&e 3,824] 4,191 8,015 289 248 537 7.56 5.92 6.70|E IR PR 9.07 7.12 8.06
2 | AREE 2568] 2997[ 5,565 187 221 408 7.28 7.37 1.33| N EEE 8.69 7.89 8.26
3 [FE1/hER 1,406] 1,407] 2813 113 88 201 8.04 6.25 7.15| E 1 /NVERR 7.87 5.67 6.77
4 |zrt-smmmEIS>y| 3,267] 3,705] 6,972 216 200 416 6.61 5.40 5.97|m#uigfE o 5—]  9.35 7.49 8.35
5 [izt=simRTSH|[ 2,009] 2,399] 4,408 209 198 407  10.40 8.25 9.23[KIct-bmRTZY| 1044 [ 11.27] 10.90
6 |FE2/hFEh 3,240 3262 6502 292 240 532 9.01 7.36 8.18| & 2/N ek 10.71 8.54 9.63
7 |E3/NFER 2541 2,786 5,327 267 217 484 10.51 7.79 9.09|FE 3/ 10.95 9.12 | 10.00
8 |FE3HEFR 1,931] 1,892] 3,823 99 83 182 5.13 4.39 4.76|E4/NFHR 7.96 5.53 6.70
9 |tRaz-—mEmEsm 935] 1,174] 2,109 106 138 244] 1134 11.75] 1157|=tnas—mweam| 1373 | 1354| 13.63
10 |F20%FK 3,436 3,776 7212 316 296 612 9.20 7.84 8.49| 22 4% 11.62 8.17 9.83
11 |E6/INFR 2965 3,172| 6,137 290 255 545 9.78 8.04 8.88|F 6/ FH 10.64 994 10.29
12 %7/]\*;7& 1,953 1,904] 3857 204 157 361 10.45 8.25 9.36| % 7/NFHR 1255 | 1056 | 11.58
& &t 30,075 32,665 62,740] 2588 2341 4929 8.61 7.17 7.86 & § 10.21 8.45 9.30
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= nEF SHEEER (N) BEEAH (A) BEE (%) AIEREER (%) _
e = E:] z &t 2 9 B E:] = B BErm£ E:] s it
1 |Em&e 3,824] 4,191 8,015 159 115 274 416 2.74 3.42|ESI iR 5.27 3.84 453
2 | AREE 2568] 2997[ 5,565 113 117 230 4.40 3.90 413| N REE 5.22 401 458
3 [FE1/hER 1,406] 1,407] 2813 65 52 117 462 3.70 4.16|F 1/VFR 493 3.11 4.02
4 Kizr-sRemr75Y%|  3,267] 3,705 6,972 121 108 229 3.70 2.91 3.28| w4 —|  5.99 4.23 5.04
5 [izt=simRTSH|[ 2,009] 2,399] 4,408 113 106 219 5.62 442 497[KIzt-bAHRTSY|  6.98 6.31 6.61
6 |FE2/hFEh 3,240 3262 6502 172 109 281 5.31 3.34 4 32| 2/ FEHR 6.86 4.45 5.66
7 |EIINFER 2541 2,786] 5,327 163 105 268 6.41 3.77 5.03| 5 3/hVFR 6.56 5.74 6.14
8 |FE3HEFR 1,931] 1,892] 3,823 64 45 109 3.31 2.38 285 4 /NFHR 5.51 3.76 4.60
9 |tRaz-—mEmEsm 935] 1,174] 2,109 59 73 132 6.31 6.22 6.26|=tras—mEmEesm| 858 7.03 7.73
10 |F20%FK 3,436 3,776 7212 186 142 328 5.41 3.76 455 F 2hFR 6.50 4.42 5.42
11 |E6/INFR 2965 3,172| 6,137 173 139 312 5.83 4.38 5.08|F 6/NVFH 7.75 6.12 6.93
12 7/J\"F7~;*a 1,953] 1,904 3,857 134 93 227 6.86 4.88 5.89| 5 7 /NFRR 8.41 6.45 7.46
& &t 30,075| 32,665| 62,740] 1522] 1,204] 2726 5.06 3.69 4.34 & § 6.43 4.78 5.58
CSRIDERE LY —BRERRVBRERNERLLE>TEYET .




SH5FE4A23B8T ENTESER 2L BEEH

ORFIRTE
(BAEHI- T L)
BER nEF SHEEER (N) BEEAH (A) BEE (%) AIEREER (%) _
- = E:] z &t 2 =S it E:] = B BErm£ E:] s it
1 |Em&e 3,824 4,191] 8,015 81 50 131 2.12 1.19 1.63|E L Th{RFT 2.51 1.53 2.01
2 | AREE 2568] 2997[ 5,565 54 51 105 2.10 1.70 1.89| N REE 2.84 2.19 2.50
3 [FE1/hER 1,406] 1,407] 2813 35 22 57 2.49 1.56 2.03[F 1 /2R 2.95 1.32 2.13
4 Kizr-sRemr75Y%|  3,267] 3,705 6,972 65 56 121 1.99 1.51 1.74|F= B 52— 313 1.69 2.36
5 [izt=simRTSH|[ 2,009] 2,399] 4,408 58 45 103 2.89 1.88 234Kzttt mRTSY|  3.03 2.65 2.82
6 |FE2/hFEh 3,240 3262 6502 91 54 145 2.81 1.66 2.23| E2/N ek 3.79 2.14 2.97
7 |E3/NER 2541 2,786 5,327 86 41 127 3.38 1.47 2.38| FE3/NE 3.72 3.05 3.37
8 |FE3HEFR 1,931] 1,892] 3,823 28 22 50 1.45 1.16 1.31|F 4/ FHR 3.11 1.83 2.44
9 |tRaz-—mEmEsm 935] 1,174] 2,109 35 30 65 3.74 2.56 308|ztras—mmesm| 4.79 3.44 4.05
10 |E2dhHk 3,436| 3,776] 7212 97 65 162 2.82 1.72 2.25|F 2 P ER 3.60 1.91 2.72
11 |E6/INFR 2965 3,172| 6,137 84 71 155 2.83 2.24 2.53|F 6/hFRK 4.20 2.85 3.52
12 %711\%7& 1,953 1,904 3,857 81 54 135 415 2.84 3.50[F 7/ 4.74 3.11 3.95
& &t 30,075| 32,665| 62,740 795 561| 1,356 2.64 1.72 2.16 & 3.48 2.21 2.83
CSRIDERE LY —BRERRVBRERNERLLE>TEYET .




SH5FE4A23B8T ENTESER 2L BEEH

SHFIRTE
(BAEHI- T L)
BER nEF SHEEER (N) BEEAH (A) BEE (%) AIEREER (%) _
- = E:] z &t 2 =S it E:] = B BErm£ E:] s it
1 |Em&e 3,824 4,191] 8,015 28 17 45 0.73 0.41 0.56|E &R 1.18 0.60 0.88
2 | AREE 2568] 2997[ 5,565 26 18 44 1.01 0.60 0.79| N REE 1.25 0.81 1.01
3 [FE1/hER 1,406] 1,407] 2813 14 9 23 1.00 0.64 0.82|F 1/ 1.20 0.19 0.70
4 |zrt-smmmEIS>y| 3,267] 3,705] 6,972 21 16 37 0.64 0.43 0.53[FmE 44—  1.30 0.54 0.89
5 [izt=simRTSH|[ 2,009] 2,399] 4,408 21 11 32 1.05 0.46 0.73[KIzt=bAHRTSH|  1.20 1.18 1.19
6 |FE2/hFEh 3,240 3262 6502 30 19 49 0.93 0.58 0.75| % 2/ FH% 1.49 0.93 1.21
7 |EIINFER 2541 2,786] 5,327 36 15 51 1.42 0.54 0.96|F 3/hFH 1.66 1.05 1.34
8 |FE3HEFR 1,931] 1,892] 3,823 10 6 16 0.52 0.32 0.42|5E 4/ FH 1.62 0.89 1.24
9 |tRaz-—mEmEsm 935] 1,174] 2,109 16 12 28 1.71 1.02 1.33[mtRes—muean| 208 1.50 1.76
10 |E2dhHk 3,436| 3,776] 7212 43 30 73 1.25 0.79 1.01|FE 208 1.52 0.84 117
11 |FE6/IhFR 2965 3,172 6,137 40 32 72 1.35 1.01 1.17|E6/NERR 1.54 1.24 1.39
12 %711\%7& 1,953] 1,904] 3857 29 16 45 1.48 0.84 117|FE 7/ ER 1.90 0.91 1.42
& &t 30,075 32,665 62,740 314 201 515 1.04 0.62 0.82 & § 1.46 0.85 1.15
CSRIDERE LY —BRERRVBRERNERLLE>TEYET .




